Subject
Code:

0126/ TFU-POLSC/ELG-I

Adda2y

7

Question Booklet No.

Seal of Superintendent of Examination Centre

C- G SET—221 R

Poln ticed Seience

TQeT FeETeAe H AW

weneff gr sia-wEee 39 9 9w WY
To be filled in by Candidate by Ball-Point pen only ~ SL No. of Answer-Sheet

TA-IME Rl HHH

CRERIED
Roll No.

Yo Pes-IT-

sire ; $7% ey el T Prder et Ry e A R E

Declaration : I have read and understood the instructions given below.

Hereh o T Fvaeff < TEER

(Signature of INVIGIlAtOT)..vvvevvurerrecssssmisssssscrnen (Signature of CANAIAALE)......c.cecwrerccmmsrrerssimsssrssssssssssssssss s ssssns
dieteh & M srvareff =1

(Name of InVigilator) .....ovuvmmeurneemssicnisisssronsenss (Name of Candidate) c........ciimireiiessisssscs e
Paper : 1I Subject : POLITICAL SCIENCE Time: 2 Hours M::;(l;ium‘ 200

TH UI-URAT H g3l ot W 4 8
Number of Pages in this Question Booklet

T UA-Ufaent § we @t )er

Number of Questions in this Question Booklet} 1 00

10.
11.

INSTRUCTION TO CANDIDATES
Immediately after getting the Booklet read instructions
carefully, mentioned on the front and back page of the
Question Booklet and do not open the seal given on the right
hand side, unless asked by the invigilator. Do not accept a
booklet without sticker-seal and do not accept an open
booklet. As soon as you are instructed to open the booklet in
the first 5 minutes you should computsorily tally the number
of pages and number of questions in the booklet with the
information printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not in serial order
or any other discrepancy should be got replaced immediately
within 5 minutes. Afterwards, neither the Cuestion Booklet
will be replaced nor any extra time will be given.

Write your Roll No., Answer-Sheet No., in the specified places
given above and put your signature,

Make all entries in the OMR Answer-Sheet as per the given
instructions, otherwise Answer-Sheet will not be evaluated.
For each question in the Question Booklet choose only one
correct/ most appropriate answer, out of four options given
and darken the circle provided against that option in the
OMR Answer-Sheet, bearing the same serial number of the
question. Darken the circle with Black or Blue ball-point
pen only. ’

Darken the circle of chosen option fully, otherwise answers
will not be evaluated.

Example : @ o;ﬁ@ @ If (B) is correct answer.

There are 100 objective type questions in this Booklet. All
questions are compulsory and carry 2 marks each.

Do not write anything anywhere in the Question Booklet or
on the Answer-Sheet -except making entries in the specified
places. Rough work is to be done in the space provided in
this booklet.

When the examination is over, original OMR Answer Sheet is
to be handed over to the invigilator before leaving the
examination hall, while the Question Booklet and carbon
copy of the Answer-Sheet can be retained by the candidate.
There is no negative marks for incorrect answer.

Use of any calculator/log table/mobile phone is prohibited.
In case of any ambiguity in Hindi & English versiens, the
English version shall be considered authentic. For
Technical words termineology in English shall be
considered as standard.
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POLITICAL SCIENCE:~I1
ST & - 11

Which of the following treats that ancient
social order in India was the ‘Creation of
divine orientation’ ?

(A) Kautilya’s Arthasastra
(B) Purushasuktha hymen of Rigveda
(C) Mantra pushpam

(D) Yajurvaveda

Who of the following acted as the General
Secretary of ‘Congress Socialist Party’ ?

(A) Acharya Narendra Dev
(B) Rajni Palme Datta
(C) Jai Prakash Narain

(D) Ram Manohar Lohia

The theory of ‘Entitlement’ is associated
with :

(A) Robert Nozick
(B) John Lawls
(C) Laski

(D) Edward Shiles

1.

e o =i W # T 9= vra | gl
I ot IN@ gfte gan wdl ot ?

(A) wifeea o1 Aefvme
(B) SHTAR o LY SAT
(C) A

(D) AR

frafafea 9 @ femm sl Siftrfae o
& HeEHd &% ®9 4 &Y feman?

(A) e T |
(B) TS UeHt @
(C) & I AR

(D) W TR difean

arfuepr fagia ferad e ?

(A) T AifSw
(B) A SEed
©) e

(D) TeaE o™

SPACE FOR ROUGH WORK / 1% & & fad sie

0128/ TFU-POLSC/ELG-II



Plato is described as the enemy of open
society by :

(A) Ebeinstein

(B) C.C. Maxey
(C) Karl Papper
(D) Isaiah Berlin

Who supported the supremacy of
temporal power over the ecclesiastical
power ?

(A) Gregory IV

(B) Thomas Aquinas
(C) Polybius

(D) Machiavelli

What according to Dante Gernail
contributed to the decline of political
theory during 19t and 20t century ?

(a) Rise of positivism

(b) Emergence of Ideologies in the form
of Marxism

() Communitarian theories
(d) Liberalism and democracy
Code :

(A) (a) and (b)

() (a) and (d)

(©)  (b) and (d)

(D) (c) and (d)

e I G GAN B W ¥ ®Y F R
Tl faan €2

(A) TEEH
(B) w.©l. Heht
(C) el qfw
(D) SHRIE Sl

TFifSTaTfEanet VIfeRt R shiferer St =t st
1 g9 forea foran?

(A) I IV
(B) oTHE U™
(C) dieitforag
(D) HfFame

T S o STAR 199 @ern 204 vrarsdt §
TeiHifas fagia § s1aafa w1 oy &= o912

(a) TITSER 1 IqHa
(b) wERHeE % &9 § fagiqa w1 Sgud

(c) wIe fagia
(d) SEAR T Arhas
%<

(A) (a) 3R (b)

(B) (a) ¥R (d)

© (b) iR (d)

(D) (o) ¥R (d)
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Which of the following are not correct

regarding scholasticism ?

(a) Supremacy of the temporal over the
spiritual power

(b) Ascendency of theology over the
philosophy

() Domination of reason over faith

(d) Church is superior to state

Choose the correct answer from the

bellow :

(A) (a) and (b)

(B) (b), (c) and (d)

(© (@) and (©)

(D) (), (©) and (d)

Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R).

Assertion (A) :

Combination of philosophical power and

political power is necessary for good

governance.

Reason (R) :

Politics is an art. Philosophical knowledge

does not guarantee efficient government.

In the context of above two statements,

which of the following is correct ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

qwﬂ?w*ﬁwﬁﬁﬂﬁﬁaﬁ?m

T E 82

(a) ememfoTR Wi X s Al H
el

(b) T TS TR HEA Y

(c)  ATEAT IT HROT Sl THEA
d) THITHIWE
ﬁﬂﬁ'@ﬂﬁﬁ'{ﬂﬁ"{:

(A) (a) ¥ ()
® ) () IR (9
Q) (a) 3 (o)
(D) (a), () ¥R (d)

ARIFHLT (A) T HIOT (R) & HifeRa &
o T T € |

AR (A)

vmamwﬁmwﬁﬁﬁwm

g & fere e B

T (R) :

TSR e e & SR ERifch ST HeT TR

T TR T ST ‘

IR S Hel % Fed B = ¥ g wm W

@ R?

(A) (A) 91 (R) 3 & T R (R), (A)
1 GE AT R |

(B) (A) T (R) 3 T ¥, G R) (A)
! TE = T e

(C) (A) TF ¥, T (R) 39 B

(D) (A) WA ¥, T (R) T
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10.

Comparative politics is the study of :
(A) domestic politics

(B) political institutions

(C) conflicts of countries

(D) all the above three

Match the following writers with their

work :
(a) Aristotle (i)  The Third
Wave
(b) S.P. Huntington (ii) The Spirit of
‘ Laws
() S.M. Lipset (iii) The Politics

(iv) Political
Man

(d) Montesquieu

Which is the correct match ?
@ G (@ (@

(A) @) @ @) (@)

B @) @) O @

© @) @@ @)

D) @ @ @) ()

10.

(B) UsHifaes Heaell &1
(C) T & &g o &
(D) SWe |+t @i 1

frefafen desl w1 s Fi § gl

i

(a) oY (i) Tuam

(b) TEG EfdEm () < fafe smw
ag

(0 T fawde (i) < uifafem

d) wiew (iv) ifafesa 39

& g ®

@ ) () (@
(A) @) @ @) ()
(B) () G@v) () (i)
© ) @@ @) @
D) @ G @) ()
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11.

12.

According to Aristotle how many types
of political revolutions are there :

(A) 8
(B) 4
© 6

D) 2

“The Power Elite”- Who is the author of
this book ?

(A) C.W. Mills

~{B) V. Pareto

o (©)  G. Mosca .

13.

(D) R. Michels

Which amongst the following countries
is not a Unitary Monarchy ?

(A) Thailand
(B) Bhutan
(C) Afghanistan

(D)  United Kingdom

12,

13.

VT IR Telte ! - e T ¥ o R
#?

(A) dHiesq, faeq
(B) ot w2
(C) it A
(D) 3. fage

ﬁw%rfaawﬁﬁﬁaﬁ#mmmw
T R?

(A)  emcivs

(B) =

(C) e
(D) FWEEE foren
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15.

‘Which of the following is not a function 14.

of a Pressure Group ?

~(A) To criticize the government
(B) To contest elections

(C) = To hold meetings

(D) To protest

Which of the following conditions is 15.

essential for an ideal democracy ?

(A)- Effective Participation

__(B) Equality of Voting

(C) Freedom of Expression

(D) All the above three

Which of the following is not a feature of 16.

Executive ?

(A) ltis a part of government
(B) It makes the laws

(C) It executes the laws

(D) It administers the country

frfafga & § =7 W %6 g9 wgE =5
T EAR?

(A) TR H SEAAT HE
(B) TS @M
(C) Hifém =

(D) Toliy =%

T 3y Siehdd & fau fr=fafea § 9 =
S 8?2

(A) 9Tl TR

(B) die &I wHwET

(C) fveafad i wasar
(D) Ul <=

Tfafes ® 9 wfwfee &1 fasmar =
& 2?2

(A) T TIHR H T Bt B
(B) ¥ frm sl ® FE
(€ I Fml = Tt et

(D) I& 7T 1 TG et §
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17. Which of the following is not a

18.

19.

characteristic of constitutional

democracy ?

(A) A written constitution and supreme

legislature
(B) Majority rule and citizen liberties

(C) Supremacy of Directive Principles
of state policy over Fundamental
Rights

(D) Separation of Powers and

Federalism

Which of the following is a major
instrument of socio-political change in the
Indian Political System ?

(A) Reservation policy of Indian
government since Independence.

(B) The presence of an independent and
impartial judiciary.

(C) Separation of powers.

(D) None of the above.

Which matter is considered in the joint
session of Parliament ?

(A) Money Bill

(B) Finance Bill

(C) Amendment Bill

(D) Private Member’s Bill

17.

18.

19.

frfafad § § S 91 a0 Haenfies anaa
T &I T © 2

(A) = fafgs dfaum wd wewfemm
T Ueh!

(B) ogHd WIEH T AN o

(€) ifers srfeerrl o fifa Frdwes fagra
! garafar

(D) TifoRT JUERRTT Te GEETG

e § ¥ w9 IR erifae a4
HAfSTR-TeHiTae 9Rad o1 Tk TqE 99
©? |

(A) 9RT THR & TRE0T Hifq o=
qeET

(B) T WWad T o9& =qguifet i
Iufeafd

(C) fed JerapT
(D) SR § F FE o T

HEE & g o # e fawa W foem foa
S ?

(A) = fade=m

B) foa fagze

() A fages

(D) Tt weea fagas
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20.

21.

Who can be removed from his office by
method other than no confidence motion ?

(A) President. of District Panchayat
(B) * President of Janpad Panchayat
(C) Sarpanch of Gram Panchayat

(D) Vice President of Janpad and
District Panchayat

If the strength of a State Legislative

Council, is 96 then What shall be the

number of members categorywise ?
(@) 32 members will be elected from
State Legislative Assembly

(b) 12 members will be elected from
District Board and Local Bodies

(¢) .16 members will be nominated by
Governor "

(d) 12 members will be elected by
Graduates

(¢) 32 members will be elected by
District Board and Local Bodies

(f) 08 members will be nominated by
Governor

(g) 08 members will be elected by
Teachers

(h) 08 members will be elected by
Graduates

Code :

(A) (@), (b), (©), (e). ()
B) (), (@), @) (g, (b)
©)  (®) (o), (@), @, (8
(D) @ () (&) (g), ()

20, ATEYEE Y& F AR 9 a0F 9 fEY
IS=d feran < Hena &2

(A)
(B)
©)
(D)

TSIt Jama 61 aremey

SIS GG T 3Tege]

I YR T WY

SUE IR e deraa o Sureas

21. A% U9 foum wfwg & wewdl =) gen
96 & d WartaR T o Ten = g ?

(@)
(b)
(©
(d)
(e)
()
(8)

(h)

X

(A)
(B)
©
(D)

32 Hew T T g g sy

12 e fofen aiie ol sy weensif
FRE S
16 T TSI GRI T fag sy

12 He& T 5 g S

32 9= et &S 3R Tty geeadi
BRI A WA

08 T ToUIer §R1 WA T S
08 Hee fHnarenl % grr g Sy

08 TIE TSI & RI I ST

@), (), (©), (e), (g)
(b), (@), (). (g), (h)
(b), (), (d), (), (8)
@), (), (e), (g), ()
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22.

Who is the ex-officio member of Jila

Panchayat ?

(a)

(b)

(©

(d)

(e)

()

Members elected from the

constituencies

Members of Rajya Sabha of the
district

Members of Lok Sabha whose
constituencies are not wholly fall
within the urban area of the district

Members of State Legislative
Assembly of the District

Members of State Legislative
Assembly of the district whose
constituencies are not wholly fall
within the urban area.

All the President of Janpad
Panchayat

Code :

(A)

(B)

©)

(D)

@, (), (O

(), (d), (e)

©, (&),

(b), (d), (B

22.

(@)

(b)

(©)

(d)

®

e

(A)

(B)

©

(D)

fren YarEd § 1T U HiA B €2

fratam &6 9 faifaa se@

e & T59 99 93

& F e ge e fafem
& uferan T & A TR

5 & T faum 99 v

o1 ¥ T faum aw g T
Frataa & i TR A H TR

SFUE U WHE STy

@), (b), ()
(b), (d), (e)
©, (&) @

(), (d). ()
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23.

24.

What is correct about the Quorum ?

(@) Quorum of Jila Panchayat is 1/3

(b) Quorum of Jila Panchayat is 1/2

() Quorum of Janpad Panchayat is
1/3

(d) Quorum of Janpad Panchayat is
1/2

(¢) Quorum of Gram Panchayat is 1/3

(f) Quorum of Gram Panchayat is 1/2

(g) Quorum of Gram Sabha is 1/2

(h) Quorum of Gram Sabha is 1/10

Code :

(4) @, (©) () (8

(B) (@) (©) (&) (b

©) (b). (@), &), B)

D) (), () (), (8)

In which circumstances the Fundamental
Rights can be curtailed or suspended ?

(@) Related to members of security
forces

(b) When Martial Law is implemented

(¢) By Parliamentary Act

(d) By Constitutional Amendment

(e) By Supreme Court

(f) By proclamation of emergency

Code :

(A) (@), (b) () (¢

®)  ©) @, @ 0

© (®),© @ O

D) @, () (@), @

23.

24.

TorgR % for & e &2

(a) TSen d=mE =t g 1/3 %
(b) fSen d=mE =i TR 1/2 %
(c) SUE Jard T gl 1/3 ¥

(d) 9IS v & ol 1/2 %

(e) T YETHA @I MU 1/3 %
(f) U d=E w ogf 1/2 %
() ™ Wl ! Mg 1/2%

(h) W |1 IO 1/10 ®

(4) @) () (e) (g)
(B) (@), (9 @ b
(©) (k) (@), (), )
(D) (b), (), &), (8)

ot uRRearfel & wHifes sifuerrl =61 Fafeem
71 Frefierg faran sn gear 72
(a) wfcTen 91 o <= & Heof &

(b) = Qe WA A &
() Hudg srfufrem gro

(d) dHfaute H@3ieE g/
(e) FarE <EE g

(f)  SATII STETON % TR
E TR

(A) (@), (b), (©), (e)

(B) (b), (d), (e), ()

©) ®) (c), (@), @

(D) (@), (b), (@), ()
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25.

26.

27.

The Comptroller and Auditor General of  25.

India :

(A) Is a Supreme Court Judge
(B) Is a financial authority

(C) Is a constitutional authority

(D) Is a fault finding authority

What is direct democracy ? 26.

(A) King is appointed by the people
(B) People go to war
(C) People elect their representatives

(D) People check the finances

What is Social Administration ? 27.

(A) A practical approach
(B) Problem solving approach
(C) Reforming approach

(D) All the above

I 1 shaler 3R e Sat

(A) Www»wﬁmaﬂ%
(B) forcitar W Belt €
(C) WU T Bl §

(D) *‘whree wERET"" W el &

ore SR o B 8 ?

(A) T Pl S §

(B) Sl g H Wl §

(C) VT ST W ot = e ¢

(D) e fore w1 e T §

RILIEER NI
(A) =R gfemr
(B) T FERer g
(©) gurardt gl

(D) IueR |t

SPACE FOR ROUGH WORK / T% h1d & ferdt <mg
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28.

What are the characteristics of good
governance ?

(a)
(b)
(©
(d)
Select the right answer :
(A) (@), (), (0
(B) (@), (o), (d)
©)  (b), (o), (d)
(D) (), (b), (d)

Rule of law
Globalisation
Transparency

Accountability

The principle “Unity of Command” has
its origin in :

(A)
(B)
©)

Private Administration
General Administration
Military Administration
(D) Public Administration

Article 112 of the Indian Constitution
deals with :

(A)
(B)
(©)

Annual Financial Statement
Finance Bill
Finance Ministry

(D) Finance Minister

28.

29.

30.

G =t = foand €2

fafy wmem
EECIETU

(c) UR=f¥fen

(d) <EERE
WE W 1 =5 HIT
(A) @, (), ()

(B) (@) (0 (d)

©  (®) (9, (@)

(D) (a), (b), (d)

(@)
(b)

SR it ww ! % Fagia w1 s I E?

A) st gome
(B) WM YA
(C) I yerEA
(D) < JRIH

R WiEUM % TR %, 112 H1 Wey
forad 72

(A) aifte fo<dig e
(B) fodita fom

(C) fera Hamerg

(D) faa =

SPACE FOR ROUGH WORK / 1% &1 & fodl smig
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31. Match the following correctly : 31. T Al it :

(a) Guardian (i)  Spoilsystem (a) SIFREF () A
Bureaucracy RIERYIE) =

(b) Caste (i) Objective (b) wifaAwEE (@) Feme T
Bureaucracy system

(c) Patronage @ii) Plato’s (c) EYeth THWR (i) T HAA
Bureaucracy system

(d) Merit (iv) Oligarchical (d) A AEE  (iv) W GE|
Bureaucracy system :

Tick the correct answer : T W few &
@ & © @ @ ®© @

(A) @ @) @) @) (A) @ @) @) )

(B) @) @) @) @) (B) @@ @(v) @ @

©) G @) @ @ © @) @) @ O “

(D) (@v) @) @ 6 - (D) Gv) @) @@ @

32. Decision making is very difficult during ~ 32. e w9 fyofer 1 STeItee HisH Bl § 2
which period ? '

(A) During war time (A) IS & I
(B) During trade time (B) SATIR & WA
(C) During development time (C) fawm & aRH
(D) During communication time (D) FeR & IH

SPACE FOR ROUGH WORK / T% @T & ford st
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33.

Neo-realism of

Keneth Waltz

(A) Visualizes that structures determine

(B)

(©)

(D)

the actions of the states and their
leaders.

Advocates that basic nature of the
states is to cooperate with each
other in the world politics.

Regards Balance of Power as an
outdated instrument.

Perceives human nature as selfish
and lustful.

The famous Savarkar Case in the

International Court involved the basic

issue of :

()

(B)

(©)

(D)

Refugee Rights

Jail break

Illegal entry into a foreign country

Asylum

33.

34.

foriter arest o1 Ao

(A)

(B)

(©)

(D)

gt tar & foF Tedi aor 5 et
% S, T H = i w2

9T e ¢ o fova Torify o ot
1 39 H Fedn e =feu |

ifert W 1 FoRT 1 SqROT T
g

AAS TPId i YT TS RO F
w9 H g g

HAET AraeE § foem aeres 9 §
el HE = T ?

(A)

(B)

(©)

(D)

RO SRR
EREED
Tt <o # R-wrh df W w@w

BIGR
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35.

36.

Which of the following is/are not true
regarding the concept of ‘Peace
Dividend” ?

- (a) It is a political slogan coined in

1990’s to describe economic benefits
of reduced defense spending

(b) It signifies end of conflict after
military intervention by an external

power.

(c) It refers to a situation where
economies are benefitted due to
redirecting military spending to
social programmes.

(d) It coincided with the end of cold
‘war when many western countries
cut their defense spending.

Select correct answer from the following
codes :

(A) only (b)
(B) only (a) and (b)
(C) only (b) and (c)
(D) only ()

Camp David Peace Treaty is related to :
(A) Korean Problem

(B) Palestine Problem

(©) Kosovo Problem

(D) Vietnam Problem

35.

36.

frfafea o 9 ‘wifa ens’ 1 -uRon &
fomd T g g7

(a) % TF ToHifas A1 ¥ TR 1990 F
U H, TiRen = | wK o ik
AT 1 UM L & T T o)

(b) faoeh aekdl & g/ A T=8T &
IR Ho FHIE i ERTT e R

() u% 36 feufa = deffa e € vl
Ak =19 1 AIfSie HEEE §
S 9 anfifer oy g 1

(d) IHHI HUAT d« I S WA IS &
AT W Fga 8 aveet 39 3 ufaren
H eyt fwar)

1 e | | S g :

(A) ad (b)
(B) A (a) 3R (b)
() &ad (b) 3R ()
(D) Fad (o)

Sy Sfere wrifa Tweir w1 g
(A) R grEn 4R
(B) fireiil wmen 9 #
(C) el wHEn d §
(D) Toaam aw=n A ®
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37.

38.

39.

Who among the following served as the
Chairman of UN Neutral Nations
Repatriation Commission ?

(A) Gen. S.P.P. Thorat
(B) Gen. J.S. Arora
(C) Field Martial Sam Manekshaw

(D) Gen. K.S. Thimayya

Balance of Power System, as per Morton
Kaplan, is most likely to transform into

(A) Unipolar System
(B)  Universal System
(C) Free Trade System

(D) Bipolar System

Which one is not a feature of India’s
nuclear policy ?

(A) No first use of nuclear weapons
(B) Credible minimum deterence
(C) Retaliation in case of major attack

(D) Unrestricted and equal supply of
plutonium to all nuclear capable
countries for use of peaceful
purposes.

+37. Trefafed 4 @ fom 3@ % =ea v

38.

39.

RAfedem weiiem % sremer w94 Jar v
forem ?

(A) SFRE TEAR, e

(B) SRS SLUH. SR - Sy
© vwes ARt 4u Wi
(D) SR g, did=m

T

ﬂﬁé‘—r FA F S GUEET Wt F‘gjc‘ﬂ GERCD

R Bt

(A) T gefta o
(B) wwfde &=
(C) ¥ MR d5

(D) feyata o=

Tergroar =i €2 -

(A)  frrat 2Rl &1 Tgen sy
(B) Tomvawfa =raw sediyes
(C) =UH HAN R FiGhR

(D) mfaqel S & fow, iR wem
ﬁﬁﬁ@ﬁmaﬁmﬁ%ww

q amgfd
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40.

41.

42.

What is common among the following
prominent political leaders - Slobodan
Milosevic (Former Yugoslavia President),
Charles Taylor (Former President of
Liberia), Jean Kambanda (Former Prime
Minister of Rwanda) and Rodovan
Karadzic (Former President of Bosnia) ?

(A) They captured power through

armed rebellion.

(B) They were charged and tried for

war crimes by international court.

They died while in office.

(D) They had to face severe internal
- opposition.

Modern liberalism believes that :
(A) State is unnecessary
®)
©)
(D)

Minimal State
Abolition of State

State . should the

socio-economic aspects

regulate

In which year the term ‘Ideology’ came
to be used ?

(&)
(B)
©
(D)

1918
1688
1797
1789

40.

41.

42,

Frefofiga wiag TsHifas Jaist & st o
U B Y YR SR - e el
(grireentaan % e Tegufa), o™ e
(s & gd Tegafa), S el (TEret
¥ gd gum ") SR VSEE wrEfeE
(hferan & gd Tegaf) ?

(A) Ty foEE & wereasy wl wied
e

siafsig =mTe % g IS Y &
oI 39 T Hhewn Faran T4 |
ST Y ITF HrRHA H g |

I SAiafier Tt 1 9l |1 ST
Rl

(B)

©)
(D)

My el W © R
(A)
(B)
©)
(D)

T SEEF §
1T T BT SITEY
T 1 THTE L AT 18T

T 1 AT 31Tk gefi ol et
" T Hife

firg od & ‘fagioare’ o8 &1 ST |
I ?
(A) 1918
(B)
©

(D)

1688
1797
1789
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43.

44.

45.

Fascism propounded the concept of : 43.

(A) Laissez faire State
(B) Police State
(C) Corporate State

(D) Military State

Which one of the following is not the work ~ 44.

of John Rawls ?
(A) A Theory of Justice

(B) Political Liberalism

“(C) The Law of the People

(D) The End of Ideology

The theory of contradiction is central to : 45.

(A) VI Lenin

(B) Karl Marx

(©) Mao Tre Tung -

(D) Trotsky

IR 3 foFe Heheu T Y T 12
(A) WEES R we

(B) ferw we

(C) HURE B2

(D) foeiledt w=

=1 4 =im 1 < Teew w0 i w6 22

(A) TTaad Afw sy
(B) Urcdifedra fereretsy
(C) = of 31w <t fage
(D) & Twe o ssfedimrst

feremere =1 fagia forme Safag 32
(A) 3. T

(B) It AT

(C) =i & gn

(D) Zrewht
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46.

47.

48.

Who said the following ? 46.

“That Government is best that governs
least.”

(A) Thomas Jefferson
(B) John Adams
(C) James Madison

(D) Alexander Hamilton

According to John Locke, the State of 47,

Nature was :

(A) Pre-social

(B) Pre-political

(C) Pre-social and Pre-political

(D) Social and Political

Mahatma Gandhi is described as a 48.

philosophical anarchist because he
supported :

(A) a minimal state
(B) welfare state
(C) stateless society

(D) classless society

=1 =1 feem wal?

39 TR TR S STeqay e

(A) oFE STEREA
(B) S TS
(C) = #gwA
(D) TRt e

St it 3 STTET, T W ot

(A) Ffq-wrfses

(B) Afq-TsHiaR

(C) wfa-wmfees iR fa-Terifes
(D) TSR TR TSTifereh

T T Rl ERifE SRS % 9 §
Fftla foren o § it S awela TR

(A) feTss T =
(B) HOAUHRY T T

(C) TN §H
(D) =EH w9
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50.

51.

49. The book “Poverty of Philosophy” was  49.

written by :
(A) Proudhan
(B) Engles
(C) Karl Marx

(D) Plekhanov

Which of the followjng books are written 50.

by Plato ?

(A) Politeia, Politics, Emile

(B) Politics, Suma Potastas, Emile
(C) Politeia, Politicus, Nomoi

(D) Nomoi, Emile, Politicus

“Machiavellian” is not associated with : 51.

(A) Political desert
(B) Killings of Innocents
(C) Evil Recommandation to tyrant

(D) Religion Persecution

il e RReR ! gea e fah?

(A) TguH
(B) Tww
(C) el T
(D) =G

fire & @ 0 T T O e ¥

(A) iferesen, ifefess, e
(B) ifetfesy, T diewers, gée
(C) iferesan, wifafess, Fmr
(D) I, guRa, wiffesy

" Henfefera ! 1 frad Ty Tl 32
(A) TsHifaw wE
(B) TSt =1 &
(C) Srr=REl % forg 58 fawrs
(D) =i Iefte
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52.

53.

54.

‘Who authored the book titled ‘Political 52.

System : An enquiry into the State of
Political Science’ ?

(A) David Easton
(B) Cobban
(C) Leo Strauss

Dante Germino

(D)

Inductive Method was adopted by : 53.

(A) Plato
(B) Thrycamachp.s_ _
(C) Glaucon

(D) Aristotle

In which system the term of the executive 54.

is fixed and goes by calendar ?
(A) Federal

(B) Unitary

(C) Parliamentary

(D) Presidential

‘“difediea fawed : @ el 7 f§ we
st Dferdiee R’ ids A T&E &

ATH ¥

(A) THE TE=A
(B) WIS
(C) fore wee

(D) S SfHA

ST fafa @1 REe e ?
(A) R

(B) UEhM™HNY

(C) el

(D) THERA

forg gorett § SRR w1 i aF B
£ oir fafaras & 1R S 22

(A)
(B) THH®
©) duda

(D) AR
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55.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) :

Political parties are necessary for
representative democracy.

Reason (R) :

Political parties create factions and divide
the people on party lines.

Code :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A).

Both (A) and (R) are true and (R) is
not the correct explanation of (A).

(B)

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

55.

W(A)amm(mﬁmrma
e g Ty ¥

e (A)

gfafretam sieds & e aeifas o)
w1 Ifge st €

ST (R) :

T Wit e w5t gfte w5t § il
T R g’y W fawfia we §

e

(A) (A) TN (R) S 9 & 7901 (R), (A) FT
e e ¥

(A) 791 (R) ST & € 901 (R), (A)
e e TE B

(B)

(©) (A) ¥¥ T I (R) T T

(D) (A) 7TeTd ¥ W (R) e B
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56.

57.

Given below are two statements, -one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) :

The system’s approach is based on the
notion that the interrelationship between
input and output structures largely
contributes to the equilibrium of the

political system.
Reason (R) :

System’s approach is statusquoist and can
not explain the realities of third world

countries.
Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

Who among the following has criticised
Almond’s structural - functionalism as a
“(lassification Scheme” ?

(A) Eugene Meehan
(B) Oran Young
(C) Paul Kress

(D) Bernard Crick

56.

57.

SR (A) T T (R) & THifeRd T
o fed T ¥ |

AR (A) :

o 1 T fgia o s S § 8T ST
<on Fota gfi % <fe afa: TR, T AW
Treritfaes <o B wmgeEar § A X €

HNOT(R) :

3 v ey ferfert A € wen et
gﬁm%ﬁ%ﬁﬁaﬁﬁwﬁmﬂﬁm
Hehell |

%<

(A) (A) T (R) A T T 3R (R), (A)
7 e e B

(B) (A) T (R) ST & ¥ T (R), (A)
H T e T 8

(@) (A) T & R (R) T €

'(D) (A) T & TG (R) T €

£ § @ e STeE o HTEAe ThEeTs
éﬁ?“aﬁmmm”émﬁmﬁ
(A) T A

(B) 3 &

(C) i g

(D) TS FH
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58.

59.

60.

Which one of the following features is not
true of traditional approaches to the study
of comparative politics ?

(A) Eurocentrism
(B) Parochial

(C) Descriptive

(D) Positivism

Which of the following is false about
political socialization ? :

(A) Political socialization gained
importance due to birth of new
states in Asia and Africa

(B)  The word political socialization was
coined by Herbert Hymen

(C) 1t acquired significance in second
half of Nineteenth Century

(D) None of above

Characteristics for analytical perspective
of Political Modernization links Political
Analysis to :

(A) Political Theories
(B) Social Theories
(©) (A) and (B) both

(D) None of above

58.

59.

60.

frefafen 4, qomems steage % foofae)
# TR SO weiftd B 5 e
T 7?2

(A) T Fare
(B) ik

(C) vl

(D) egfr=amEE

Frefafea # @ Torifes gamhe ¥ fayg
B 1 oree ¥?

(A) ¥R qen SRR B TE T i Seafy
& FHRU ISk IS ] Hee
TG TN

(B) TSR TSI W15 T T Bl
B 1 T

© T 19 ff v ¥ T o T
T SAfsta feapan

(D) SWr A i ot TEF

TSI SR % Svetfi g =it
fordoen & o worife fawemw = feag
Sred € 2

(A) TsHifaes fagia &
(B) WIS fagia @
(©) (A) 3w (B) A A
(D) ST § # oft &
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61 Who was not associated the poht1ca1 61.

" culture theory in political socialization ?
(A) Lucian Pye
(B) Gabriel A. Almond
(C) Sidney Verba

(D) None of above

62. A person can give orders, commands and  62.

take decision because he has :
(A) Authority
(B) Moral Right

. (©) Powers

(D) None of above

63. ' Political Elites theory is opposed to : 63.

anys
FRC S

(A) Social Equilibrium
(B) Democratic Equilibrium
(C) Classical Pluralism

(D) All of above

e TSR T et i
[ FH Gataa & 917

TR T
@) TefEa g aems
(C) drs =

(D) ST § HE o T

aﬁéwﬁamamm%m%:afﬂﬁvh
T Wl § TR I9F I

(A) fersr g ¥
(B) Afereh aifererR B ®
(C) e et &
(D) Swi H Fg o 7

TR erfusa fagia fra o e
®7?

(A) TS HRGE H
(B) e[k SAITA
(C) =efeHe FgTAR
(D) SwE 9t
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64.

65.

Amongst the following which state sends
the maximum number of representatives
to the Rajya Sabha ?

(A) Chhattisgarh
(B) Jammu and Kashmir
(C) Himachal Pradesh

(D) Goa

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) :

India has political parties, rather than a
party system.

Reason (R) :

India witnessed the emergence of strong
regional parties in recent periods.

Code :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are correct but (R)
is not correct explanation of (A).

(C)  (A) is correct, but (R) is not correct.

(D)  (R) is correct, but (A) is not correct.

64.

65.

frefofad o § @ w5 9o sty ge
T 9 H Aetar &2

(A) BETg

(B) ¥ 3R ek
(C) Team=a wew
(D) e

T2 T ke fow T ¥, Tk ) arfuremer (A)
3R FE I /T (R) 1 79 fory o 3

ARTFHAT (A) :
WA H € TSR i erdan TeifaE o ¥

/T (R) :

1 6 H 9Na ¥ g8 & gt & sea w5
gl

e

(A) (A) ¥R (R) W& ¥ @ik (R), (A) =
el =1 §

(B) (A) ¥R (R) W& &, W (R), (A) H1
el A TE §

©) (A) %@l B, W (R) &2 Hﬁ%
(D) (R) 9t € W (A) Wt =& &
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66. Match the following 2 tables : 66.

Table One Table Two

(@) Non Partisan (i) Australia (@)
System

(b) One Party (iiy Jamaica (b)
System

(¢) Two Party (iii) North Korea ()
System

(d) Multi Party (iv) Tokelan (d)
System (Newzealand)

Tick the correct answer :
@ () (o (d)
(A) @) @) @ @
(B) (v) @) @@ @
© @ @@ () @
D) ¢ @ @ )

67. Arrange the following Indian dignitaries 67.
in order of their precedence :

(a) Prime Minister

(b) Deputy Prime Minister
(c) Governor

(d) Former Presidents

A) @ (), (. ®)

(B) () (), (b) (@)

© (D (© @ )

(D) (), (), (a), (b)

i arferemetl = gAfaa wifaT
fetent 1 et 11
frogefier oo (i) STS(er

T U HER (i) ST

Yo eFEe (i) S I
T R (iv) S (FEevs)

FE SR W feoh T

@ ¢ © @
(A) (@@ Gv) @ @
(B) (iv) @) @) @
© @ @b @v) (@
(D) @ @) @) @)

Frefafed TR o SIfREl Sl SR
EpLIE R R U

(a) wEH HA

(b) 9 FEE FA

€ T

(@) o T

(A) (@), (%), (d), (b)

(B) (d), (@), (), (@

© (@), (), (@), (b)

(D) (), (d), (a), (b)
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68.

(@)

(b)

©

(d)

) @ @

Match the list of Former Presidents of
India with their previous work done prior

to their becoming the President.
Former Presidents Work

Chief Justice
of India

Rajendra Prasad (i)

First Chief
Minister of
Andhra
Pradesh

S. Radhakrishnan (ii)

M. Hidayattulah (iii) Vice
Chancellor

Neelam. S. Reddy (iv) Longest

Serving
President

Tick the correct answer :

@ B © @
@
® ) @) 6 6
© O @ @ @

D) @) (v) () @@

WIRA % o Tgaferdl w1 g 3 Th Iy

I A gd T e % @ gifaa Ffv
g wefa ®E
() T TG () 9G¥ g
RN
(b) TH. qUTFH (i) Y TR F
e g |3t

(©) . RSrgeae (i) Ferafa

(d) iem. Te. @ (iv) Ueula ¥

LRk
iy

T TN R o wifse

@ ®) (© ()
(A) (v) @@ @) ()
(B) @) @) @) (i)
© @ @) @) (v

(D) @) Gv) @) (i)
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69.

70.

71.

‘ Amiongst the following which are the

features of ‘Cabinet Government ?

(a) President is the Head of Cabinet.

(b) Separation of Execu;t\iye gpd
Legislature. S

(c)  Presidentis the administrative head

£l " of the State.
(d)v ‘Fusion
..., Executive.

of Legislature with
Tic;l; the correcf answer :

(A) (@, (d)

B ®), ©

© © @

®) (@), ©)

In which state was the “Voter Verified
PaperAudit Trait” (VVPAT) used for the
first.time:?

(A) 'Nagaland

(B) Mizoram

(C) Assam

(D) Kerala

Within what period parliament has to
approve the financial emergency declared
by the President ?

(A) Six months
(B) Two months.
(C) Three months
(D) Four months

69,

- 70.

71.

(a) Tgufd HisE 37e9e] BT ¥
(b) ’maﬂ?ﬁrmﬁmqwéﬁ%l

(g)v”ﬁwﬂrﬁrwaﬁrmﬁaaw&r@m%

(d) oo Si R o fe g
2

(A) (a), (d)
)" ®) ©
© © @
©) @6

m_mﬁ“a‘gt%ﬁmw amfee g’
o1 TRl S TN foha T o ?

ez g forehvel SATrehret 3t S <k feferit
aaelt ¥ offeR TES I TH SATAIGT HTA
g 8 ?

(A) B:HE
(B) WHE
(C) <A
(D) “REE
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72.

73.

Fundamental rights of Indian citizen are 72.

contained in

part of the
constitution.

(A) Partl

(B) Part II

(C) Part III

(D) Part1V

Management by Objectives, 360 - Degree 73.

Method, Cost Accounting Method are

(A) Tools for employee’s performance
appraisal

(B) Methods of distribution of work
among employees

(C) Principles of financial management

(D) Techniques of automation in public
organisations

R AT 1 qol SR diaum %
o ¥ ffea §

(A) 9T I

(B) w1l

(C) wm I

(D) «mIV

ERF TaEE, 360 - feit Aue, wie
THISET AU B & .

(A) HiHR % IR Yo & STH

(B) e % we i faemer w1 fafy

(C) foxita waiem & fagia

(D) HrESIe HTeH § e &) fafy
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According to Abraham Maslow which of

the following is the most basic need ?

74.
(&)
(B)
©
(D)
75.

(@)

(b)

(©)

)

(A)
(B)
©)

Esteem Need
Safety Need
Love Need

Self Actualization Need

What is correct about co-ordination ?

Co-ordination is related to common
man

Co-ordination is not a legal
technique

Co-ordination is a responsibility of
Chief Executive Officer

Co-ordination is a process

Co-ordination is the arrangement of
collective efforts

“Co-ordination is the unity of efforts

(@), (b), (), (d)
(®), (0), (d), (¢)
©), (@), (e), )
(d), (e), ). @)

74.

ITeTEn HYEl! % TR frefafed § § w9

TS SRl F § ?

(4)
(B)
©)

(D)

75.

(@)

(b)

(©)

(d)
(e)

)

(4)
(B)
©)

(D)

SATCH T hi STETIHA
F&T T HERIhdl
YA hi AETIHAT

ST genefdn =i STEvEehdl

e % fava § = | g ?

TG W AT ¥ Tsifed §

TR TF Y qEHAE e §

qHd & SEueE SR H
IR &

@), (b), (), (d)
(b), (©), (d), (e)
(©), (d), (&), (&)
@), (), (), (a)
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76;-'7

77.

Which of the following was not

recommended by K. Santhanam

Committee (1962-64) in its report ?

(a) Central Bureau of Investigation
should be formed.

(b) Article 311. of the constitution
should be amended.

- {o) Permit, License and Contracts

shou_ld be given to those persons or
cdrﬁpanies who are registered and
recognised by the government.

(d) National Police Commission should

 be established.

(e)  All officers, MLAs, and Ministers
should declare their property.

(f)  Post of Lokpal and LokAyukta
should be formed.

(4) @, @) @

(B) (b), () (e)

© (@) (b), (@)

(D) () () ®)

According to Luther Gullick what is the
basis of principles of Departmental
Organisation ?

(@) Purpose

(b) Planning

' (c) process

(d) Person
(¢) Place

- (f)  Personnels

(4) @, ®), @), @
(B) (b), (d), (o), ()

© ®)© @, @

(D) (@), (©), (), (o)

76. =7 9 9 %, T Wi (1962-64)

77.

Tfree H srgeifad W foran o2
(@) T S SR H I H 5=

(b) WfaYUR % =T 311 GIfHE fHan
S|

() WM, Idd iR I = =fw
T FHE B e S S dsfe @
3R ITEA BT Wl Wil & |

(d) T YA ST *T T # W

(e) Wit stfyerr, faurass, oiv @ify syoe
[Ef SO Y|

(f) kTSt TR e SR ¥ UE Y T
Eaksief

(A) (@), @), (£

(B)  (b), (0), (e)

©) (@), (), (d)

(D) (b), (o), ()

gmg%m%mﬁmﬁaaﬁaq%ﬁm
T YR 7 & 2

(a) ERISE
(b)  FreFT
(c) gl
(d) =afFm
() ¥mM
() wifs
(A) @, (®), (9, ()
(B) (), (d), (e), ()
€ ®), (c), (d), ()
(D) @), () (@), (e)

(
(

7
7
7
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78. Which one of the following statements is
connected with the managerial view of
administration ?

(A) Every particular application of law
is an act of administration.

(B) Public administration is directed by
the chief executive as the general
manager.

(C) Administration is not doing things
but getting things done.

(D) Public administration is concerned
with the ends of the state.

79. In administrative studies, behaviouralism
is said to have started :

(A) As a protest against traditional
approach.

(B) As an attack on the philosof)hical
method.

(C) With the human relations
movement of the thirties.

(D) As an integrated approach to the
study of public affairs.

78.

79.

frefeiaa & HIF | FoT TS % e
giemm § g 87 |

A)

(B)
- e AR e

©)

(D)

YA

i ST ) T ¥ 9 e

il

ek T T2t & el & TR 1@
7

TR STegA § SITeRAS S

(A)

(B)

©)

(D)

T S 6 W oy & w9
gl

erifer faf o8 ek WeR % &9 § ge)
e T % T wey snam%s
e b :

ek AT o STEHT H FART YR
% €9 H Il
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80. M;atcv}i List - I éhd List‘n- II and se_léct the

81.

correct answer from the code given

below :
List - I : List - IT
(Authors) (Books)
(a) C.Wright Mills @ An
' Economic
Theory of
Democracy
(b) Harold Lasswell (ii) Power,
Political and
People
(c) CW.Mills (iii) Politics :

' ~ Who gets
what, when,
how

(d) A. Downs (iv) The Power
_ Elite

Code :

@ ® (© @
(A) @ @ (@) (@)
B @) (@) @ @
© @ @ O )
D) @) @ @ (@)

Planning Commission is established by :
(A) The Cabinet resolution

(B) The Parliament resolution

(@) The President .

(D) The Prime Minister

80. HEN - I I YeR - II ¥ firomew den e 9

T I AT :
et - 1 et - 11
(T ) (T&® )
() "W wefrew () dwdsw
T e
fagia
b) Wesamad () v,
REEIILED
SR ST
() dwiesy foew () vt R
w1, He IR
9 foen
(d) T =™ (iv) Tdile wfE

@ ) (o (@
(A) @ @) () (@v)
(B) (v) @) @) @
© @ @ @& (v
O ) @ @ ()

81. IS STENT 1 TTo e QT &2
(A) WHiHes y=Ie 9
(B) EHSH yWME |
(C) Tzufa & g
(D) FUMHST & BRI
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82.

83.

84.

In 1986, the Prime Minister Government
appointed a committee on “Revitalisation
of Panchayati Raj Institutions for
Democracy and Development” under the
chairmanship of :

(A) LM. Singhvi
(B) G.VK. Rao

©)
(D)

V.N. Gadgil
Ashok Mehta

Which among the following is NOT one
of the features of Civil Services ?

(A) It is a body of professional
administrators as opposed to
amateur politicians

(B) They are paid regularly by the state
and have the incentive of private
profit while in civil service

(C) It does not include those persons

who hold political offices
(D) Includes impartial selection

The term ‘Performance Budget’ was
coined by :

(A) Administrative Reforms

Commission of India
(B) Second Hoover Commission of USA
©

(D)

Planning Commission of India

None of above

82,

83.

84.

a9 1986 H, FHIH Hall % TR A Tk i
forshrr o fee ot TSt e < G
% fau ww afafa o=t off, so ey o
q? =

(A) TwEE. fest
(B) iEtF. W@
(C) #ua. mea

(D) oI Aedl

e § R @ Tt Yerei ) ue fadar

e -

(A)  Afeed Torme ¥ freg 9
! T} Tk R B

TR Aaredi § @d g oft fsit wmw
1 HicwTe faerr g1

T 31 Afedl H Wit T& He
S YAl 981 W ST 3R T
(D) frouer gma AT

(B)

©

‘FroaE owie’ WE Y e A of
(A) YRE % YIMEFF YR RN 3

(B) I .Y, & T A™T A
(C) WRT % ST SITERT 3
(D) 3o § i oft
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85.

86.

Arrange the following chronologically :
(a) Balwantrai Mehta Committee
(b) National Extension Service

(c) Ashok Mehta Committee

(d) Community Development

Programme
Tick the correct answer :
A) @, ®) @) ©
B (©).d), @) ©
© @ © O @
(D) (@), (), (b), (d)

The Prevention of Corruption Act, 1988 :

(a). Does not provide a definition of
-corruption

- (b) Lists offences of bribery

() Provides indirect definition of
corruption

(d) Listsillegal gratification of all kinds

Tick the correct answer :
(A) (@), (b), ()

(B) (a), (b), (0)

© () () ()

D) (@, ®) (@), @

85.

86.

Frefafaa & wrrwaag HifT
(a) SeTEAUd HEa afafy

(b) T R Ger

(c) 379k Hear wiafa

(d) wHEIRe fawm wrefwn

T S| few i
(A) (), (), @), (9
(B)  (b), (d), (a), (9)
© (), (o) (b), (a)
(D) (@), (c), (b), (d)

YER 1 UHAH 1 FfufEm, 1988 :
(@) YTER AR & @

(b) TedErt % sTousl St gt vem s
gl

() Y=TER &t sTyeel g a1 §1

(d) ueft weR et TRewrT dgftee ) g

A w@M T
W& Sae fesk s
(A) (@), (b), (d)
(B) (@), (b), ()
©) (), (9, (d)
(D) (a), (®), (0), (d)
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87.

88.

(@)

(b)

©

Which of the following are the
behavioural problems associated with a

matrix form of organization ?
(@)
(b)
(©)

Select the correct answer by using the

Career disruption
Demarcation of authority

Role assessment

code given below :
(A) (a) and (b)

(B) (b) and (c)

(©) (a) and (c)
(D) (@), (b) and (c)

Match List - I with List - IT and select the
correct answer by using the code given
below the Lists :

List - I List - II
Charles (i) Rational
Windblom Approach
Amitai Etzioni (ii) Gorbage
Con Model

Herbert Simon  (iii) Incrimination
Michael (iv) Mixed
D. Cohen Scanning
Codes :

@ () @ @
(4) @) @) @ @
® @ @ @ @)
© @ @@ O @)
D) @ Gv) @) @

87.

88.

(2)

(b)

(d)

e B Q PG AR GHE WS &
Az Wi % WY Yo B 8

Sae gfa =Ea™
(b) IR = W=

() feren AR 2
e f T e W@ W g

(a)

(A) (a) 3R (b)
(B () IR (9
© (a) ()
D) @, ® 3 ©

et - 1 % g - 11 R ey aen 7 g
s e i | L

gt - 1 gE - I
e ettt @) b
g
sifhar wefsrfa (i) TR W
| Hisd

S CACI LR (i) FHHIATE
oEHd . Hied (v) T @i
E TR

@@ () () (@
(A) @) @) @ @
® @ @ @@
© @ @@ @O @)
(D) () Gv) @) ()
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89.

90.

According to classical, school the ‘Science
of public Administration” was based on :

(A) absence of ethical or normative

values

(B) Presence of codified principles of
techniques

(C) Presence of scientific principles and
methods of universal application

(D) Presence of empirical knowledge

Thalweg Doctrine refers to :

(A) A legal principle in international
law to determine the boundary in
the river between two countries.

(B) A formula devised by Nuclear
suppliers Group to supply Uranium
to the nuclear powers.

(C) A procedure prescribed by the
Atomic Commission for the
disposal of nuclear waste.

(D) A methodology to calculate the
percentage of waters from the
international rivers to be shared by
the countries.

89.

90.

FAMHhe foamy® & AR ‘ol gomem
forgm " smrenfia o

(A) fs stoEn smeet el H Attty
I

(B) HIus fugia iR Sww =t Suftufy
™

(C) ot fagia iR wifehs =remRr =i
Iufeefa W

(D) STYES= 9 & SaRfg w

yrera fagia ford Hefifd sar 872

(A) <M F ST e dir o %
fore siaeiedia s o wes fafuss fagia

(B) IfRTR wiferl =t oM Safe Hed
& T =fferar emafd wqE g o=
Bt

(C) it srafiree & fyemr & fou
Wit ST g s wek wfwe

(D) iUty AfE & 5 Y, 29 & =
Toraor & fore witere o w6t wes fafi |
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91.

92.

93.

Which of the following theory is applied
in the study of psychology, economics,
politics, and business administration ?

(A)
(B)
(©)
(D)

'Decision-making Theory
Structural-functional Theory
Behavioural Theory

Realist Theory

Which of the following theories believes
that rationalism is required to create

harmony of national interest ?
(A)
(B)

(C) Behaviouralist

Idealist

Realist
(D) ' Systems

Policy of Autarky refers to

(A) avoidance of trading and try to
produce everything in the country
with an objective of not becoming

depéhdént on other states.

(B) a state of hidden anger against the

political system, which doesnot
explode easily.

(C) a constitutional deadlock when a

country is divided into two separate
states.

(D) an economic embargo imposed by
the international community on a

rogue country.

91.

92.

93.

(&)

JoTEd F e % far FeE H  wE W
firgia o fovan ST €2

fofe g Tagia

(B) wfemcre-wehrdicash Tasid
(© e fs

(D) wemefare gl

et & § for frgi 1 W & R, T
fedl ® wETEA g % AU TG I

S Al €2
(A)

st
(B) anelamEl
(C) HIRERE!
(D) dEmEt

mﬁﬁmaﬁﬁﬁrwﬁﬁamﬁ

(A)  #= [ W i T FA F S
T ST S A 39 H & wed) ereged
=t fAmtor e |

TR T3 T W SRIE SN ST |
= T8 e |

I HE 2 QA H W Fe § q
Genfyer 2Ty Y 7o B B

©)

How T2 R AT FIEE G-I
aifefer wiaey ST

(D)
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94.

Which of the following statement/s
is/are true with regard to Regional

Integration theory ?

(a)

(b)

(©)

(d)

Select correct answer from the following
code :

Technological and economic
development lead to more and more

supranational structures.

Economic integration generates a
political dynamics that drives
integration further.

There is a gradual procéss of
upward shifting of sovereignty from
state to regional or global structures.

from national to supranational
structure, there is political unrest
and economic embargo. :

(A) Al are correct.

(B)

©)

only (a), (b) and ’(c) are correct.

only (c) and (d) are correct.

(D) only (d) is correct.

In the transformation’ procedure:

94.

@

q@g/E?

(a) ST T i P B Ao
sifersh @ feren YOI, TR ST
gl

(b) aﬂfafaﬁ@wuﬁﬁaﬂmﬁamﬁa
FA W THE F SR S T
TART S |

(¢) T 9§ &g arear dvdier WHeR 4
FIYS FH 3R -+ wgar 2
e W GIREE THR F iR
Wﬁfaﬁwﬁmmgwam
e fcaie 1 THAT HET e §1

e & 3 Ve SR g

(A) Tt T ¥

(B) ?ma(a) (b)aﬂx(c)w*él

oy

(©) ama(c)aﬁz(d)w%|

(D) Faa (d) 9.
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95. Indian military was sent to Maldives to  95. WA T 1 fFEF FEER H T I

suppress a coup there during the tenure F HRW B M FE FA F A A
of : ST T 417

(A) P.JV. Narasimha Rao () e e

(B) Lal Bahadur Shastri (B) T WRIGY WG

(C) V.P. Singh | ©) @ foe

(D) Rajiv Gandhi (D) it T

96. Which of the following statements is 96. APEC % fawa & f 4 WWW%7
correct with regard to APEC ?

(@) India is not a member of APEC. (@) YT APEC &1 93¢ - R

(b) APEC is regional organisation of () APEC, 21 90 1 T &t WeA B
21 countries.

(c) All the continents are represented (c) APEC ¥ uR wergdi ot ufaffers o
in APEC. 2

(d) APECaim ateconomic, defence and (d) e, yforan Tt Wedn APEC
strategic cooperation. w1 A T |

Select correct answer from the code : et g @ |l S T

(A) (a) and (b) are correct. A) @ 3R (b) W T

(B) (b) and (c) are correct. (B) (b) 3R (c) T& g1

(C) (c) and (d) are correct. €) (o) ¥R (d) & 2

(D) (b) and (d) are correct. (D) () 3R (d) =& T
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97.

Given below are two statements, one
Assertion (A) and the other Reason (R).
Based on these select the correct answer
from the code given below :

Assertion (A) :

There is growing military presence and
other activities of external powers,
particularly China, in the Indian Ocean.

Reason (R) :

India’s National Security Advisor,
Ajit Doval, appealed to reconsider the
1971 UN resolution to make Indian Ocean
as Zone of Peace.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

97.

AFUFHAT (A) IR ®ROT (R) 2 oA fEw MU
€ 37 W oTuiE Wl S e e @ g

AT (A) :

IR feg memamR o farslt aredl fasies
<19 i St Sl wd e niafafuat 3w
@ R

RIUT (R) :

I & T GR&T ARHR, 3Fsfid eraat
i fo werErR 1 wifa %1 &5 5 ¥ faw,
1971 % 4T, YIS B [ R w6 @
3Tdte @i |

E X

(A) (A) a1 (R) 31 ¥ ¥ iR (R), (A)
i Gl e B

(B) (A) W (R) T ¥ § W (R), (A)
H GE IR TR ¥

(©) (A) 5@ &, T (R) T R

(D) (A) 7o §, W (R) T §)
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98.

99.

Decision to establish South Asian 98.

University under SAARC was taken in :
(A) 7% Summit at Dhaka

(B) 10t Summit at Colombo

(C) 14% Summit at Delhi

(D) 16t Summit at Thimpu

Who have
International Court of Justice ?

(A) S.M. Sirwai and R.S. Pathak

(B) P.B. Gajendragadkar and
Y.V. Chandrachud

(C) B.N. Shrikrishna and
K.G. Balkrishnan

(D) Nagendra Singh and B.N. Rau

served as judges of 99.

o ¥ oiaia ey i fovafaeme @t
T o for

(A) e % 78 fereR geier # fan

(B) et % 109 e wwer # fera
el

(C) Taeeh % 14% ferex weer # feran

(D) Toreg % 168 firer weter | fean T

ST e % WS % F9 H fopa e
Y& i ?

(A) TH.UH. WEE 3R ALTE. TSH

(B) .o, TerETEER SR WAl TS

(C) SN.UA. g TR .S, SIEFIH

(D) ArZ e 3R <@,
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100. Reasons for British exit from EU are : . 100, U9 |e | fafew w1 o €9 w1 FRW

AR
(@) Excessive immigration into UK (a) I ® rcafis enyed
(b) Poor and Working class were (b) TS T FHE 1 TR v
feeling insecure R
(c) Pressure from NATO countries () I I T E
(d) Hatred of UK among other (d) = FUfra 0 H 3%, F ufa gon
‘European countries.
Identify the correct options and select w& forre veifm aik %2 § IW T .
from the code :
(4)  (a) and (b) only (A) 9 (a) R (b)
(B) (b) and (c) only (B) = (b) ¥ ()
(€) (d) only (C) %= (d)
(D) (c) and (d) only (D) A () 3 (d)
-000- ~00o0-
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W=

T 3w T AT 29 1 { Afreha 3ik ¢ 200

Time for marking answers : 2 Hoursf Maximum Marks : 200

e ;
1. 39 -5 4 100 99 © - TS U9 2 39k %1 ¥ O UeH vt e i ¥

Tl o IR, & T OMR S (Aw-¥e) R aifwa Fifm |

L

3. RUIRHS Hedih e fan smam

4. fodl ft T F FOFAR A A T TE HEES B F 6T afd &

5. OMRIW-¥Z (SER-¥fe) 1 Wi e o Uelt 1 sramaurft 3 #3/a% fored 78 %2 o1 1
IHH IS 1 fHere oMt 95 W e Ferasy 98 @ud 8 59 |

Note :

1.  This Question Booklet contains 100 questions. Fach question carries 2 marks. Answer all

questions.
2. Indicate your answers on the OMR Answer-Sheet provided.
3. No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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